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Problem

* At present, SFC is based on they are transmitted over an Overlay Netw
ork(See NSH draft section 7). Take Geneve as an example, if SFF and N
VE are co-located, NVE knows how to encapsulate the NSH packet wit
h an Overlay Header and forward it to the right NVE.

* But, for the case of SFF and NVE splitted, NVE don't know how to forw

ard the NSH packet to the rlght SFF because it doesn't know WhICh NV
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Our proposal to NSH draft

* Specify how to add NSH for an original packet

* When add a NSH header, how to encapsulate the orginal packet including IP h
eader or Ethernet header.

* When SFF find the next hop in SFC, it should
* Find the next hop address according to the SFP ID in the SFC header of the pa

cket.
* Replace the destination address to the next hop address in the IP header or Et

hernet heagds

Take SFF1 as DA: SF1
an example, SA: S
the packet

to/from SFF NSH
is:

Original Packet

NVE1->SFF1 SFF1->NVE1
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Original Packet



* Comments, questions always welcome and greatly appreciated
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